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* IPsec (Internet Protocol Security) i E4HEETE VPN(Virtual Private Network)fy

BT - BEE TFIRSE
IPsec H1HY AH(Authentication Header) =50 ESP(Encapsulating Security
Payload)f7EFIE A GIRIE 2 (5 43)
IPsec H2#Y Transport mode FI Tunnel mode ﬁﬁ%ﬁ?ﬁg{’ﬁj‘jﬁ&fgﬁkﬁ%ﬁﬁ ?
(57)

=~ FERESASERBERES IHEVRIR By (transaction) 5] LA TERESHYT » /8

HECRME ACID (Atomicity, Consistency, Isolation, Durability) property - :EEF4MER
5 L DB e - (8%)

+ S5EF40ERBH homogeneous distributed database B heterogeneous diétributed

database fiE 2 Z= & - (10%)

B - I35 NoSQL ZH1E 7 SAEFAHRATE NosSQL BRI FTE A > B - (7%)

(10%) To use Peterson’s solution to solve the cfi-tical-sec’tion problem between
two processes Pj and Pj, please fill the blank (a), (b), (c), (d) and (e) in structure
of Piin Program 1. '

do {
flaglil = _(a) ;
turn = (b) ; )
while (_(c) && _(d) );

critical section

flaglil = _(e) ;
remainder section
} while (true);

_Program 1

(5%) Please describe two strategies commonly being used in OS to allocate the
“kernel memory for structures of varyihg sizes.

(5%) Given a computer memory system with the page size 16KB, if the system -
guarantees that the TLB (Translation Look-ahead Buffér) reach is at least 32MB,
how many TLB entries should this system have?

(5%) Suppose we a function P(x) = q + bx®> + cx'® 4+ dx15. Given a x value,
when derivith(x) value, what is the minimum number of “add” operation? what
is the minimum number of “multiply” operation?
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-+ ~ What is runtime polymorphism or dynamic method dispatch in Java? (5 points)
Provide example Java codes to explain this concept (5 points)
. _,__ < )

The following programming method was written to determine whether its String
0.

parameter reads identically left-to-right and right-to-left (the so called palindrome [F]
boolean isAPalindrome(String s}
mnti=0,j=slength{)- 1;
while (1 !=j && s.charAt(i) == s.charAt(})) {

3
Y
;

refurn (1=
$

This method compiles fine; howeve, it contains a logic error, which mav result in a
run-time e1ror, or wrong output

1. Find the error and explain what problem it will cause (5 points)
2. Fix the error (write the correct statements) (5 points)

Write an alternative, recursive implementation (5 points)
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